

## A NOTE ON DEGENERATE STIRLING NUMBERS AND THEIR APPLICATIONS

TAEKYUN KIM, DAE SAN KIM, AND HYUCK-IN KWON

ABSTRACT. In this paper, we introduce degenerate Stirling numbers of the first kind which are different from the Carlitz's type degenerate Stirling numbers of the first kind. Then we derive some identities involving these numbers and other degenerate special numbers like degenerate Stirling numbers of the second kind, degenerate Bernoulli numbers, degenerate Euler numbers, and degenerate Daehee numbers of the second kind.

### 1. Introduction

Stirling numbers are defined as the coefficients in an expansion of positive integral powers of a variable in terms of factorial powers, and vice versa:

$$(x)_n = \sum_{k=0}^n S_1(n, k)x^k, \quad (n \geq 0), \quad (1.1)$$

$$x^n = \sum_{k=0}^n S_2(n, k)(x)_k, \quad (n \geq 0), \quad (\text{see}[1, 2, 3]). \quad (1.2)$$

where  $(x)_n = x(x-1) \cdots (x-(n-1))$ ,  $(n \geq 1)$ ,  $(x)_0 = 1$ , (see [3]). The numbers  $S_1(n, k)$  and  $S_2(n, k)$  are the Stirling numbers of the first kind and of the second kind.

The generating functions of (1.1) and (1.2) are respectively given by

$$\frac{1}{k!} \left( \log(1+t) \right)^k = \sum_{n=k}^{\infty} S_1(n, k) \frac{t^n}{n!}, \quad (k \geq 0), \quad (1.3)$$

and

$$\frac{1}{k!} (e^t - 1)^k = \sum_{n=k}^{\infty} S_2(n, k) \frac{t^n}{n!}, \quad (k \geq 0). \quad (1.4)$$

---

2010 *Mathematics Subject Classification.* 11B68; 11B73; 11B83.

*Key words and phrases.* degenerate Stirling numbers of the first kind, degenerate logarithmic function, degenerate Daehee numbers of the second kind.

As is well known, the Bernoulli and Euler numbers are respectively defined by

$$\frac{t}{e^t - 1} = \sum_{n=0}^{\infty} B_n \frac{t^n}{n!}, \quad (1.5)$$

$$\frac{2}{e^t + 1} = \sum_{n=0}^{\infty} E_n \frac{t^n}{n!}, \quad (\text{see [2, 3, 9]}). \quad (1.6)$$

The Daehee numbers are given by the generating function

$$\frac{\log(1+t)}{t} = \sum_{n=0}^{\infty} D_n \frac{t^n}{n!}, \quad (\text{see [3, 4, 8, 9]}). \quad (1.7)$$

From (1.5) and (1.7), we note that

$$D_n = \sum_{k=0}^n S_1(n, k) B_k, \quad (n \geq 0), \quad (1.8)$$

and

$$B_n = \sum_{k=0}^n S_2(n, k) D_k, \quad (n \geq 0), \quad (\text{see [3, 4]}). \quad (1.9)$$

For  $\lambda \in \mathbb{R}$ , L. Carlitz introduced the degenerate Bernoulli polynomials  $\beta_{n,\lambda}(x)$  and the degenerate Euler polynomials  $\mathcal{E}_{n,\lambda}(x)$ , ( $n \geq 0$ ), which are given by

$$\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \beta_{n,\lambda}(x) \frac{t^n}{n!}, \quad (1.10)$$

$$\frac{2}{(1+\lambda t)^{\frac{1}{\lambda}} + 1} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see [1, 2]}). \quad (1.11)$$

Note that  $\lim_{\lambda \rightarrow 0} \beta_{n,\lambda}(x) = B_n(x)$ , and  $\lim_{\lambda \rightarrow 0} \mathcal{E}_{n,\lambda}(x) = E_n(x)$ , where  $B_n(x)$  and  $E_n(x)$  are the Bernoulli and Euler polynomials.

When  $x = 0$ ,  $\beta_{n,\lambda} = \beta_{n,\lambda}(0)$ ,  $\mathcal{E}_{n,\lambda} = \mathcal{E}_{n,\lambda}(0)$  are called the degenerate Bernoulli and Euler numbers.

Now, we define the degenerate exponential function as follows:

$$e_{\lambda}(t) = (1+\lambda t)^{\frac{1}{\lambda}} = \sum_{n=0}^{\infty} (1)_{n,\lambda} \frac{t^n}{n!}, \quad (\text{see [1, 2, 7]}). \quad (1.12)$$

where  $(x)_{0,\lambda} = 1$ ,  $(x)_{n,\lambda} = x(x-\lambda)\cdots(x-(n-1)\lambda)$ , ( $n \geq 1$ ). Note that  $\lim_{\lambda \rightarrow 0} e_{\lambda}(t) = e^t$ .

Recently, the  $\lambda$ -Stirling numbers of the first kind are defined as

$$(x)_{n,\lambda} = \sum_{l=0}^n S_{1,\lambda}(n,l)x^l, \quad (n \geq 0). \tag{1.13}$$

Note that  $\lim_{\lambda \rightarrow 1} S_{1,\lambda}(n,l) = S_1(n,l)$ ,  $(n \geq l \geq 0)$ .

In this paper, we introduce the degenerate Stirling numbers of the first kind which are different from Carlitz's type degenerate Stirling numbers of the first kind and  $\lambda$ -Stirling numbers of the first kind. Then we derive some identities involving these numbers and other degenerate special numbers like degenerate Stirling numbers of the second kind, degenerate Bernoulli numbers, degenerate Euler numbers, and degenerate Daehee numbers of the second kind.

### 2. The degenerate Stirling numbers of the first kind

Now, we define the degenerate logarithmic function as the inverse to the degenerate exponential function  $e_\lambda(t)$  as follows:

$$\log_\lambda t = \frac{t^\lambda - 1}{\lambda}, \quad (\lambda \neq 0). \tag{2.1}$$

From (1.12) and (2.1), we note that

$$e_\lambda(\log_\lambda t) = t = \log_\lambda(e_\lambda(t)), \quad \lim_{\lambda \rightarrow 0} \log_\lambda t = \log t. \tag{2.2}$$

In the view of (1.3), for  $n \geq k \geq 0$ , we define the degenerate Stirling numbers of the first kind by

$$\frac{1}{k!} \left( \log_\lambda(1+t) \right)^k = \sum_{n=k}^{\infty} S_{1,\lambda}(n,k) \frac{t^n}{n!}. \tag{2.3}$$

Thus, by (2.2), we easily get

$$\lim_{\lambda \rightarrow 0} S_{1,\lambda}(n,k) = S_1(n,k), \quad (n \geq k \geq 0). \tag{2.4}$$

where  $S_1(n,k)$  are the Stirling numbers of the first kind.

From (2.1), (1.3), and (1.4), we note that

$$\begin{aligned} \frac{1}{k!} \left( \log_\lambda(1+t) \right)^k &= \frac{\lambda^{-k}}{k!} \left( (1+t)^\lambda - 1 \right)^k = \frac{\lambda^{-k}}{k!} \left( e^{\lambda \log(1+t)} - 1 \right)^k \\ &= \lambda^{-k} \sum_{l=k}^{\infty} S_2(l,k) \lambda^l \frac{1}{l!} \left( \log(1+t) \right)^l \\ &= \lambda^{-k} \sum_{l=k}^{\infty} S_2(l,k) \lambda^l \sum_{n=l}^{\infty} S_1(n,l) \frac{t^n}{n!} \\ &= \sum_{n=k}^{\infty} \left( \sum_{l=k}^n \lambda^{l-k} S_2(l,k) S_1(n,l) \right) \frac{t^n}{n!}. \end{aligned} \tag{2.5}$$

Therefore, by (2.3) and (2.5), we obtain the following lemma.

**Theorem 2.1.** *For  $n, k \geq 0$  with  $n \geq k$ , we have*

$$S_{1,\lambda}(n, k) = \sum_{l=k}^n \lambda^{l-k} S_2(l, k) S_1(n, l).$$

Now, we observe that

$$x^n = \left( e_\lambda(\log(1+x)) - 1 \right)^n, \quad (n \geq 0). \tag{2.6}$$

In [5], the degenerate Stirling numbers of the second kind were defined by the generating function

$$\frac{1}{k!} \left( e_\lambda(t) - 1 \right)^k = \frac{1}{k!} \left( (1 + \lambda t)^{\frac{1}{\lambda}} - 1 \right)^k = \sum_{n=k}^{\infty} S_{2,\lambda}(n, k) \frac{t^n}{n!}, \quad (k \geq 0). \tag{2.7}$$

Thus, we note that

$$\begin{aligned} \left( e_\lambda(\log_\lambda(1+x)) - 1 \right)^n &= n! \frac{1}{n!} \left( e_\lambda(\log_\lambda(1+x)) - 1 \right)^n \\ &= n! \sum_{k=n}^{\infty} S_{2,\lambda}(k, n) \frac{1}{k!} \left( \log_\lambda(1+x) \right)^k \\ &= n! \sum_{k=n}^{\infty} S_{2,\lambda}(k, n) \sum_{m=k}^{\infty} S_{1,\lambda}(m, k) \frac{x^m}{m!} \\ &= n! \sum_{m=n}^{\infty} \left( \sum_{k=n}^m S_{2,\lambda}(k, n) S_{1,\lambda}(m, k) \right) \frac{x^m}{m!}. \end{aligned} \tag{2.8}$$

Therefore, by (2.6) and (2.8), we obtain the following theorem.

**Theorem 2.2.** *For  $m, n \in \mathbb{N}$ , we have*

$$\sum_{k=n}^m S_{2,\lambda}(k, n) S_{1,\lambda}(m, k) = \begin{cases} 1, & \text{if } m = n, \\ 0, & \text{if } m > n. \end{cases}$$

From (1.10), we have

$$\sum_{n=0}^{\infty} \beta_{n,\lambda} \frac{t^n}{n!} = \frac{t}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} = \frac{\log_\lambda \left( e_\lambda(t) - 1 + 1 \right)}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1}. \tag{2.9}$$

By (2.1), we easily get

$$\begin{aligned} \log_\lambda(1+t) &= \frac{1}{\lambda} \left( (1+t)^\lambda - 1 \right) = \frac{1}{\lambda} \left( \sum_{l=0}^{\infty} (\lambda)_l \frac{t^l}{l!} - 1 \right) \\ &= \frac{1}{\lambda} \sum_{l=1}^{\infty} (\lambda)_l \frac{t^l}{l!}. \end{aligned} \tag{2.10}$$

Thus, by (2.10), we get

$$\begin{aligned} \frac{\log_\lambda(e_\lambda(t) - 1 + 1)}{(1+t)^{\frac{1}{\lambda}} - 1} &= \frac{1}{\lambda \left( (1+\lambda t)^{\frac{1}{\lambda}} - 1 \right)} \sum_{l=1}^{\infty} (\lambda)_l \frac{(e_\lambda(t) - 1)^l}{l!} \\ &= \frac{1}{\lambda} \sum_{l=0}^{\infty} \frac{(\lambda)_{l+1}}{l+1} \frac{1}{l!} \left( (1+\lambda t)^{\frac{1}{\lambda}} - 1 \right)^l \\ &= \frac{1}{\lambda} \sum_{l=0}^{\infty} \frac{(\lambda)_{l+1}}{l+1} \sum_{n=l}^{\infty} S_{2,\lambda}(n, l) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left( \frac{1}{\lambda} \sum_{l=0}^n \frac{(\lambda)_{l+1}}{l+1} S_{2,\lambda}(n, l) \right) \frac{t^n}{n!}. \end{aligned} \tag{2.11}$$

Therefore, by (1.10) and (2.11), we obtain the following theorem.

**Theorem 2.3.** *For  $n \geq 0$ , we have*

$$\beta_{n,\lambda} = \frac{1}{\lambda} \sum_{l=0}^n \frac{(\lambda)_{l+1}}{l+1} S_{2,\lambda}(n, l).$$

From (1.11), we note that

$$\sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda} \frac{t^n}{n!} = \frac{2}{(1+\lambda t)^{\frac{1}{\lambda}} + 1} = \frac{2}{e^{\frac{1}{\lambda} \log(1+\lambda t)} + 1}. \tag{2.12}$$

It is not difficult to show that

$$\frac{1}{e^{\log(1+\lambda t)^{\frac{1}{\lambda}} + 1}} = \frac{1}{2} \sum_{m=0}^{\infty} W_m \left( -\frac{1}{2} \right) \frac{1}{m!} \left( \frac{1}{\lambda} \log(1+\lambda t) \right)^m, \tag{2.13}$$

where  $W_m(x) = \sum_{n=0}^m S_2(m, n) n! x^n$ .

By (2.12) and (2.13), we get

$$\begin{aligned}
\sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda} \frac{t^n}{n!} &= \sum_{m=0}^{\infty} W_m \left( -\frac{1}{2} \right) \frac{1}{m!} \left( \frac{1}{\lambda} \log(1 + \lambda t) \right)^m \\
&= \sum_{m=0}^{\infty} W_m \left( -\frac{1}{2} \right) \lambda^{-m} \sum_{n=m}^{\infty} S_1(n, m) \frac{\lambda^n}{n!} t^n \\
&= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n W_m \left( -\frac{1}{2} \right) \lambda^{n-m} S_1(n, m) \right) \frac{t^n}{n!}
\end{aligned} \tag{2.14}$$

Therefore, by (2.14), we obtain the following theorem.

**Theorem 2.4.** For  $n \geq 0$ , we have

$$\mathcal{E}_{n,\lambda} = \sum_{m=0}^n W_m \left( -\frac{1}{2} \right) \lambda^{n-m} S_1(n, m).$$

From (2.7), we have

$$\begin{aligned}
\sum_{m=0}^{\infty} (n)_{m,\lambda} \frac{t^m}{m!} &= (1 + \lambda t)^{\frac{n}{\lambda}} = \left( (1 + \lambda t)^{\frac{1}{\lambda}} - 1 + 1 \right)^n \\
&= \sum_{k=0}^n \binom{n}{k} \frac{k!}{k!} \left( (1 + \lambda t)^{\frac{1}{\lambda}} - 1 \right)^k \\
&= \sum_{k=0}^n \binom{n}{k} k! \sum_{m=k}^{\infty} S_{2,\lambda}(m, k) \frac{t^m}{m!} \\
&= \sum_{m=0}^{\infty} \left( \sum_{k=0}^n \binom{n}{k} k! S_{2,\lambda}(m, k) \right) \frac{t^m}{m!}.
\end{aligned} \tag{2.15}$$

Thus, by (2.15), we get

$$(n)_{m,\lambda} = \sum_{k=0}^n \binom{n}{k} k! S_{2,\lambda}(m, k), \quad (n, m \geq 0). \tag{2.16}$$

From (2.16), we note that

$$\begin{aligned}
(1)_{m,\lambda} + (2)_{m,\lambda} + \cdots + (n)_{m,\lambda} &= \sum_{j=0}^n (j)_{m,\lambda} \\
&= \sum_{j=0}^n \left( \sum_{k=0}^j \binom{j}{k} k! S_{2,\lambda}(m, k) \right) \\
&= \sum_{k=0}^n S_{2,\lambda}(m, k) k! \sum_{j=k}^n \binom{j}{k}.
\end{aligned} \tag{2.17}$$

It is easy to show that

$$\sum_{j=k}^n \binom{j}{k} = \sum_{j=k}^n \left( \binom{j+1}{k+1} - \binom{j}{k+1} \right) = \binom{n+1}{k+1}. \tag{2.18}$$

Therefore, by (2.17) and (2.18), we obtain the following theorem.

**Theorem 2.5.** *For  $n \geq 0$ , we have*

$$(1)_{m,\lambda} + (2)_{m,\lambda} + \cdots + (n)_{m,\lambda} = \sum_{k=0}^n \binom{n+1}{k+1} S_{2,\lambda}(m, k) k!.$$

Now, we define the degenerate Daehee numbers of the second kind by

$$\frac{\log_\lambda(1+t)}{t} = \sum_{n=0}^{\infty} d_{n,\lambda} \frac{t^n}{n!}. \tag{2.19}$$

By replacing  $t$  by  $(1 + \lambda t)^{\frac{1}{\lambda}} - 1$ , we get

$$\begin{aligned} \frac{t}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} &= \sum_{k=0}^{\infty} d_{k,\lambda} \frac{1}{k!} \left( (1 + \lambda t)^{\frac{1}{\lambda}} - 1 \right)^k \\ &= \sum_{k=0}^{\infty} d_{k,\lambda} \sum_{n=k}^{\infty} S_{2,\lambda}(n, k) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n d_{k,\lambda} S_{2,\lambda}(n, k) \right) \frac{t^n}{n!}. \end{aligned} \tag{2.20}$$

Therefore, by (1.10) and (2.20), we obtain the following theorem.

**Theorem 2.6.** *For  $n \geq 0$ , we have*

$$\beta_{n,\lambda} = \sum_{k=0}^n d_{k,\lambda} S_{2,\lambda}(n, k).$$

From (1.10), we have

$$\begin{aligned} \frac{\log_\lambda(1+t)}{t} &= \sum_{k=0}^{\infty} \beta_{k,\lambda} \frac{1}{k!} \left( \log_\lambda(1+t) \right)^k \\ &= \sum_{k=0}^{\infty} \beta_{k,\lambda} \sum_{n=k}^{\infty} S_{1,\lambda}(n, k) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n S_{1,\lambda}(n, k) \beta_{k,\lambda} \right) \frac{t^n}{n!}. \end{aligned} \tag{2.21}$$

Therefore, by (2.19) and (2.21), we obtain the following theorem.

**Theorem 2.7.** For  $n \geq 0$ , we have

$$d_{n,\lambda} = \sum_{k=0}^n S_{1,\lambda}(n, k)\beta_{k,\lambda}.$$

Remark. It is well known that the Changhee numbers are defined by the generating function

$$\frac{2}{t+2} = \sum_{n=0}^{\infty} Ch_n \frac{t^n}{n!}. \tag{2.22}$$

From (1.6) and (2.22), we can easily derive the following equations:

$$Ch_n = \sum_{k=0}^n S_1(n, k)E_k, \quad (n \geq 0),$$

and

$$E_n = \sum_{k=0}^n S_2(n, k)Ch_k, \quad (n \geq 0).$$

Now, we observe that

$$\begin{aligned} \frac{2}{t+2} &= \frac{2}{e_\lambda(\log_\lambda(1+t)) + 1} = \sum_{k=0}^{\infty} \mathcal{E}_{k,\lambda} \frac{1}{k!} \left(\log_\lambda(1+t)\right)^k \\ &= \sum_{k=0}^{\infty} \mathcal{E}_{k,\lambda} \sum_{n=k}^{\infty} S_{1,\lambda}(n, k) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \mathcal{E}_{k,\lambda} S_{1,\lambda}(n, k)\right) \frac{t^n}{n!}. \end{aligned}$$

From (2.22), we note that

$$\begin{aligned} \frac{2}{(1+\lambda t)^{\frac{1}{\lambda}} + 1} &= \sum_{k=0}^{\infty} Ch_k \frac{1}{k!} \left((1+\lambda t)^{\frac{1}{\lambda}} - 1\right)^k \\ &= \sum_{k=0}^{\infty} Ch_k \sum_{n=k}^{\infty} S_{2,\lambda}(n, k) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n Ch_k S_{2,\lambda}(n, k)\right) \frac{t^n}{n!}. \end{aligned}$$

Thus we have

$$\mathcal{E}_{n,\lambda} = \sum_{k=0}^n Ch_k S_{2,\lambda}(n, k), \quad (n \geq 0).$$



### References

1. L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math. **15** (1979), 51-88.
2. L. Carlitz, *A degenerate Staudt-Clausen theorem*, Arch. Math. (Basel) **7** (1956), 28-33.
3. B. S. El-Desouky, A. Mustafa, *New results on higher-order Daehee and Bernoulli numbers and polynomials*, Adv. Difference Equ. **2016**, Paper No. 32, 21 pp.
4. B. S. El-Desouky, *Multiparameter Higher order Daehee and Bernoulli numbers and polynomials*, Applied Mathematics **8** (2017), 775-785.
5. T. Kim, *A note on degenerate Stirling polynomials of the second kind*, Proc. Jangjeon Math. Soc. **20** (2017), no. 3, 319-331.
6. T. Kim  *$\lambda$ -analogue of Stirling numbers of the first kind*, Adv. Stud. Contemp. Math. (Kyungshang) **27** (2017), no. 3, 423-429.
7. T. Kim, D. S. Kim, *Degenerate Laplace Transform and degenerate gamma function*, Russ. J. Math. Phys. **24** (2017), no. 2, 241-248.
8. Y. Simsek, *Identities on the Changhee numbers and Apostol-type Daehee polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **27** (2017), no. 2, 199-212.
9. S.-S. Pyo, *Degenerate Cauchy numbers and polynomials of the fourth kind*, Adv. Stud. Contemp. Math. (Kyungshang) **28** (2018), no. 1, 127-138.

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

*E-mail address:* [tkkim@kw.ac.kr](mailto:tkkim@kw.ac.kr)

DEPARTMENT OF MATHEMATICS, SOGANG UNIVERSITY, SEOUL 121-742, REPUBLIC OF KOREA

*E-mail address:* [dskim@sogang.ac.kr](mailto:dskim@sogang.ac.kr)

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

*E-mail address:* [sura@kw.ac.kr](mailto:sura@kw.ac.kr)